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B. A. PHILOSOPHY  
(BDP) 
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December, 2020 

BPY-008 : MODERN WESTERN PHILOSOPHY 

Time : 3 Hours     Maximum Marks : 100 

Note : (i)  Answer all five questions. 

  (ii) All questions carry equal marks. 

 (iii) Answers to the Questions No. 1 and 2 

should be approximately 400 words. 

1. Discuss Descartes’ method of doubt. What is its 
relevance in his philosophy ? 20 

Or 

What are the influences of Renaissance and 

Enlightenment on Western Philosophy ? 
Explain.   20 
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2. Explain the characteristics of ‘Substance’ as 
discussed by Spinoza. 20 

Or 

Explain and examine Locke’s rejection of innate 
ideas.    20 

3. Answer any two of the following in 200 words 

each approximately : 

(a) Explain the doctrine of pre-established 
harmony. 10 

(b) Explain Marxian idea of dialectical 
materialism. 10 

(c) Explain the concept of ‘esse est percipi’. 10 

(d) How do we get knowledge according to 
Kant ?  10 

4. Answer any four of the following in 150 words 
approximately : 5×4=20 

(a) What is Copernican revolution ? 5 

(b) Why did Berkeley reject abstract ideas ? 5 

(c) Differentiate between Phenomenon and 
Noumenon. 5 
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(d) Describe Home’s theory of causation. 5 

(e) Write a note on Philosophy of Comte. 5 

(f) Distinguish between primary and 
secondary qualtities. 5 

5. Write short notes on any five of the following in 
100 words approximately : 4×5=20 

(a) Mind-Body dualism 4 

(b) Law of sufficient reason 4 

(c) Absolute idealism 4 

(d) Monads 4 

(e) Dialectics 4 

(f) Empiricism 4 

(g) Scepticism 4 

(h) A priori and A posteriori 4 
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      BPY-008 

ch- ,- n'kZu'kkL=k (ch-Mh-ih-) 

l=kkar ijh{kk  

fnlEcj] 2020 

ch-ih-okbZ-008 % vk/qfud ik'pkR; n'kZu 

le; % 3 ?k.Vs     vf/dre vad % 100 

uk sV % (i) lHkh ik ¡p iz'uksa ds mÙkj nhft,A  

 (ii) lHkh iz'uksa ds vad leku gSaA 

 (iii) iz'u la[;k 1 vkSj 2 esa ls izR;sd iz'u dk 

mÙkj yxHkx 400 'kCnksa esa nhft,A 

1- nsdkrZ ds la'k; i¼fr dh ppkZ dhft,A muds n'kZu 

esa bl i¼fr dk D;k egRo gS \ 20 

vFkok 

iqutkZxj.k ,oa izcks/u dk ik'pkR; n'kZu ij D;k 

izHkko iM+k \ O;k[;k dhft,A 20 

2- fLiukstk }kjk of.kZr nzO; dh vo/kj.kk ds pfj=kxr 

y{k.kksa dh O;k[;k dhft,A 20 
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vFkok 

ykWd }kjk tUetkr izR;;ksa ds fl¼kUr ds fujkdj.k 

dh O;k[;k ,oa ijh{k.k dhft,A 20 

3- fuEufyf[kr esa ls fdUgha n k s iz'uksa ds mÙkj nhft,A 

izR;sd iz'u dk mÙkj yxHkx 200 'kCnksa esa nhft,A 

(v) ̂iwoZ LFkkfir lkeatL;* ds fl¼kUr dh O;k[;k 

dhft,A  10 

(c) ̂}U}kRed HkkSfrdokn* ds ekDlZoknh fl¼kUr dh 

O;k[;k dhft,A 10 

(l) ̂lÙkk n`';rk gS* ds fl¼kUr dh O;k[;k dhft,A  

10 

(n) dk.V ds vuqlkj ge Kku dSls vftZr djrs gSa \ 

10 

4- fdUgha p kj iz'uksa ds mÙkj nhft,A izR;sd iz'u dk 

mÙkj yxHkx 150 'kCnksa esa nhft,A 

(v) dkWijfudlh; ØkfUr D;k gS \ 5 

(c) cdZys us D;ksa vewrZ izR;;ksa dk fujkdj.k fd;k \  

5 

(l) fiQukesuk ,oa U;wesuk esa Hksn dhft,A 5 
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(n) áwe ds dkj.krk fl¼kUr dk o.kZu dhft,A 5 

(;) dkWEVs ds n'kZu ij ,d fVIi.kh fyf[k,A 5 

(j) ewy xq.k ,oa mixq.k ds chp Hksn LFkkfir 

dhft,A  5 

5- fuEufyf[kr esa ls fdUgha ik ¡p iz'uksa esa izR;sd ij 

yxHkx 100 'kCnksa esa laf{kIr fVIif.k;k¡ fyf[k, % 

(i)  eu ,oa 'kjhj dk }Srokn 4 

(ii)  i;kZIr dkj.k fu;e 4 

(iii)  fujis{k izR;;okn 4 

(iv)  fpn~.kq (eksusM~l) 4 

(v)  }U}okn 4 

(vi)  vuqHkookn 4 

(vii)  la'k;okn 4 

(viii) izkxuqHkfod ,oa mÙkjkuqHkfod 4 
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